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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 COMMERCE QUESTION PAPER

Note : This paper contains seventy five (75) objective tvpe questions of two (2) marks each.
All questions are compulsory.
1. Assertion (A) ¢ Buvors, for several industrics, are potential competitors-they may integrate

backwards.
Reasoning (R) : They have different degrees of bargaining power.
Code :
(1) (A) and (R) are correct and (R) is the correct reasoning of (A).
(2)  (A) and (R) are correct but (R) is not the correct reasoning of (A).
(3} (A) 1s incorrect while (R) 1s a correct statement.
(4)  Both (A) and (R) are incorrect.

Which one of the following is the governing factor in deciding the type of redressal agency
which will deal with the dispute of a consumer 7

(1)  Area of sale of goods and services

(2)  Type ol goods and services sold

(3)  The choice of the consumer

(4)  The valuc of goods and services sold

Match List - I with List - IT relating to the roles played by government in an economy and
indicate the correct code of their matching.

List - I List - II
(Roles) (Lxamples)
(a) Regulatory role (i)  Deciding timing and usage of resources
(b)  Promotional role (ii) Capital intensive projects of public sector
(c)  Enterprencurial role (i)  Imposing of high import duly
) Planning role (iv) Measures to control and cover risk in priority sectors

(a) (b) I
) () (i) (
2) (i) @) ()
) () () (1
) @) @) (

Which one of the following statement is not correct relating to Competition Policy and

Law ?

(1)  Collusion and dominance have potential for unfair competition.

(2)  The appeal against decisions of Compelition Commission of India can be made lo the
Competition Appellate Tribunal.

(3)  State monopolies, government’'s business policies and functioning of Regulatory
Authoritics cannot be scrutinized under this law.

(4)  Abuse of dominance rather than dominance should be the key for Competition Policy/
Law.
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3. srfemerE § Wi g T4l Tl YfHeht (Wh1d) 1 HeilHd el - 1S /Y Gl - 1150 Al i

e - 1 T - 11

(=Rt ) ( SeTET )
(a) EEEEREID (1) HEYAT 3 90T 11 A & A
(b) 3<ISTh 7Y (i)  HERRT &5 hi GSil e GHESH
(c) IEHT = (iif) 3= AT ShT ]
(d) TS T (iv) aFa &9 4 07 IR SiEm 1 |49e
che :

(@) (b) (o) (d)
(1) (v) () () (1)
2) (i) (@) (@v) (i)
(3) (i) (v) (i) ()
(4) () () (v) ()

4, frefated woF § 9 gfaerdl Aifa o w1 & do9 § o @ 98l =1l 2
(1) erfaa afaemel = forg g ik uym o Hareaa §
(2) 9 = gfaeayl svam = o 6 fawg sdie, wfaeqyr stdie fzegaa d T 99d © |
(3) TF THIHHRI, TSR FI HRER Afadi IR Fams migsw &1 w9E9Ed 38 F697 &
Fvaria Hate 781 g el |
(4)  9Ye 1 EIANT 7 T gYea ITaeqi A /mA o fold sl 21 =neu
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Which one of the following is not correct with reference to standard costing 7

(1)

(2)
(3)
(4)

Standard costing is a system where pre determined costs are used for control of entire
organisation

Standard may be expressed in quantitative and monctary measurcs
Only adverse variances are invesligaled intensively

Standard 1s determined for each element of cost

Which one of the following is not correct ?

(1)

(2)

(3)

(4)

g
7‘»-"Ta1‘g1'ﬂ of Safoty = Profit
| P [’/ V ratio

Chanee in Contribution
P/V Ratio = 2 % 100

Change in sales

Fixed cost

Break-even point in units = — ——— .
Contribution per unit

Desired profit

Required sales to earn desired profits = e
/W ratio

Schedule Il Part 1l of the Companies Act, 2013 deals with which one of the [ollowing ?

(1)
(3)

Format of Balance Sheet (2)  Format of Profit and Loss Account

Format of Trading Account (4)  Format of Cash Flow

Which one of the following statements is not true ?

(1)
(2)

When there 1s one liquidation and one formation it is known as external construction

Goodwill or Capital reserve arises only when the amalgamation is in the nature of
'I"ﬂf:.‘l"gﬂ'l'

Under the pooling of interest method, the transferee company incorporates the assets
and liabilities of the transferor company at book value

The vendor company transfers preliminary expenses (at the ime of absorption) to equity
shareholders” account
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THTT S oigiehd & Hed H faefaliiad § 9 [ 91 98 T8l ¢ 7

(1) YUY SNTd TRalehd Teh Ugid & (9o 92 "1eq w9 = fag, gel feifia @ w1 9= fw
ST |

2) YT T GRS it Oifew o § afysrsm fowar s m=ar §
(2)

(3) et gfagkel =Rl &1 S TEa1 | ol Sl 2 |

(4) TINTE <k Hedek dcd < Tl 9HTT 2R EROT Tohan S € |

Tr=fafiagd § 9 sh-91 98] T8 2 7

o4

(1) HXm 30d =
AN/ /I 37T

| HAIEH H T
(2] oMHAAEL TN = ——(— X 100
EEARIECLE

R IRINGING

(3) wA-Ta=gs fdg swdi ° =

ufd TFHE IR

CIEGRGIE

(4) =nfea o1y =1 Afsa w0 & fau smfaa famt =

AT/ HEAT 2791

ot stfaferm, 2013 =t ST 11 9 11 &1 fr=fafea o 9 feow 99y 87

(1) =5 =1 oy (2) @4 SR FE T A IS
(3) EATIR W T AT (4) IS WATg 1 WEY

Trefafag § 9 H 91 o4 T2 T8 ¢ 7

(1) & s HAVA § SIR U (800 § 56 9rel (707 She] S § |

(2) I A1 gSi "G ] 39T IH WY 2l & STk FHHEA HISerad shi Wehid bl Bl 2 |

(3)  =ATS ok WS fafy o sfaria SAAEr shoHl Siaeen ol o Uil $iR gl 1 gHmer
JEeh Hod TR ] ¢ |

(4)  Taskar ot T storenfel o wrd o wttas e (Sfaeram % 9ue) R T H ©
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Statement - I 1 The least - cost or optimal input combination of labour and capital requires
that the marginal revenue productivity ratio of the two inputs should be
cqual to their price ratio.

I a hypothetical production tunction of the following form

D=l 08 Logl0L,

Where, Q=Quantity of the product and L=No. of variable input (labour), the marginal
physical productivity of labour is —L2+ 15 L+ 10.

Code :

(1) Both the statements are truc,

2} Both the statements are false.

3)  Statement - 1 1s true while statement - 11 1s false.

Statement - 11 :

(
(
(4)  Statement - T 1s false while statement - IT 1s true.

Malch the items of List - I with the items of List - IT and indicate the code of correct maltching,.

List -1 List - II
(a) Technological advantages (i)  Managerial economies
(b)  Large scale purchase of material (ii)  Economies in transport and slorage
mputs

(¢} Specialized departments under (i)
Specialized personnel

(d)  Oil companies having their own (iv)
flect of tankers

Economies in marketing

Leonomies in production

@ (b)) ()
) @)
)ov) ()

(i) @ )
)iy ()

Manufacturing of T.V. scts and refrigerators and therr pricing in India belong to which one
of the following market structures ? | |
(1)  Monopeolistic compelition (2)
(3)  Monopoly (4)

Perfecl competition
Oligopoly
Statement - I :  Pricing at par with the market price of the existing brands is considered to
be the most reasonable pricing strategy for a product which is being sold in
a strongly competilive market.

Statement - IT : Pricing below the markel price has been found to be more successful when
a scller intends to achicve a prestigious position among the sellers in the
locality for selling prestigious goods of much superior quality.

Code :

(1)  Both the statements are correct

(2)  Both the slalements are incorrecl

(3)  Statement - I is correct while Statement - IT is incorrect
(4)  Statement - I 1s mcorrect while Statement - 11 1s correct
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AT - 1: o9 U Ysil oh1 W hH AT STUE] SAJherad AT HareT o ford S & Toh ST AT
& HIHT $TTH SCACHAT 1 ST 376 HIHd STIT F SREL 5HT 1feu |
TR - 1] : ek FHIeATeh Iqed Bl 5 SRR 61 ¢

Q=-1"+151L2+10 L
el (Q = FeurE i HE R L = YHEa-iiel ST ( 419) i W&, 9 99 =51 "o iides Sergeh]
HAER € @ —12+15 L+10
<hd ;
(1) aﬁaﬁ*ﬁﬂﬁ%ﬂ
(2) Ml YA W S |
(3) HUF -1 FE T wafw woH - 1T

(4) YA - [ 7o § ek U - [ HE 2|

T - 1<h Hal &l Gl - 11 Hal 9 gHiad hifs 3R §8l 5el 31 2 SN i |

T - 1 T - 11
(a)  HrETRTR Y (i) wereERra fagesfaary
(b) | SFT 1 g2d THH TR BT (it) UREEd U HErm § fHasaigdd
(c) Tafere wa=rfen = sdiq fafow faum (i) fodoE o fageafzan
(d) O Uil ok 99 WE H6 S w1 dEl (iv)  Scded | st
che :
(@) (b) () (d)
(1) (v) () @) (1)
(2) (i) (v) (G ()
(3)  (m) () (1) (iv)
(4y  (v) (1) () (3)
d | 21 91 T2 TE MR o1 10 U 39eR & Hd TH9R 999 § 3 &6 9l SR 9= 3 e faa
¢ 7
(1)  UShITHERRIcHS Tiqere] (2)  goT gfqeas
(3) UHRIHFHN (4)  STETTYHR
T - 1: T 98 UG S Ueh HIIER UNTETeeeh ATsik H o<1 Sl 181 € SHehl Ta2HH sl1g i &)
I o SUa HIAd YR ge 3M9d Hiog HuR =15 = 7 St ¢
THAT - 11 : STo U Talshdl A H Teh ¥ & Tashdistl & = Trarereh [$fd U & o 30e 9
T ToreH ol TSR aigell sl o= & o0 A= shiAd 9 = ShiHd Mg &3 2
ql SH AT THE 9 S T
eha

)

(1) =M %9 98l %

(2) <FI HYE Tl A2 B |
(3) FUF - 1 9 ¥ Tl herd - [ H9L1 781 g
(4) HUF - 19E TE

T Safd YT - 11980 T |

prepp

Your Personal Exams Guide



www.prepp.in

13.

14.

16.

Which of the following statements are true 7 Select the correct code.

(a)  The coefficient of rank corrclation has the same Limits as the Karl Pearson’s coefficient
of correlation.

) The coeflicient of correlation is independent of the chanee of origin bul not of scale.
(I i . L of lat lependent of the change of origin bul not of scal
: - s > ¥y - :
(¢}  The covariance between X and Y is defined as —* where v = (X = X), v = (Y = Y)
n
and n = no. of paired obscrvations.
(d)  bay is called regression coefficient of X variable on Y variable.
¢ - by 1s 0.4 and byx 1s 1.6, cocfficient of determination would be 0.8.
It b 0.4 and b L@ ft tobdet t Id be 0.8
Code :
(1) (a), (b) and (c) (2)  (a), {c) and (d)

(3) (), (d) and (c) (4)  (b), (¢) and (c)

The application of x=-test as parametric test will be in which one of the following
situations 7

(1)  Test of independence of attributes
Test of goodness of fit of a specific type of distribution
Test for population variance on the basis of small sized sample variance

(4)  Teslof homogeneily of several populations with respect to some characteristic of interest

In which one of the following situations is the application of t-test is most appropriate 7

(1)  Testing the significance of coelficient of correlation between paired observations of
small sized sample

(2)  Testing the significance of coclficient of correlation between paired observations of
large sizad sample

(3)  Comparing variances of two small sized samples

(4)  lesting the significance of the difference among mean values of more than two samples
groups

Which of the following is not a logical data structure ?

(1) Chain (2} Stack (3)  List (4)  Tree
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frfafad el § A %A 91 T € ? Wé %2 I

ﬁﬁﬁﬁﬁﬁ

(a) 1o WE-HaH T F oM g WA gl © ol e G o GgHaH e i |

(b) TEEs TUH 3TTH % Ifadd ¥ w6d el € W 9§ T2 |

(€) ¥ x=(X-X), y=(Y Y)W n="Te TH H TS & T X AR Y =A & o 9B

- P e Al
A= =M AR oxlls Sldl &

Sy

In

(d) by H X T H Y R AT Fed=H €@ T

(¢)  AfE bxy 0.4 T4 byx 1.6 31 @ f79Rer 7oriaF 0.8 3T |

(1) (a), (b) 3T () (2) (a), () X (d)
(3) Q) (d) F(e) (4) (b, (¢) I (e)

fre o s-d1 gt O 1 2-gierer et e & ©Y § 2799749] ST § 7

(1) T[UT =kl TEd=Tl <A1 Gireqor

(2) U Tafew YR = faaum & Ty e R 1 e

(3) Uk AR Teel o forero o STemR 9T FHY o o= w1 q{ierm

(4) el Tafere sfaar Efear =6 9R 9 st 98Ul 1 G ad 1 e

-

e o -] gfitfiefa § el ge #1fues Sf=d 2 8 7

(1) 3709 3R % (a2l o i Uemll & =9 HgHs [UNh sl H2l 61 G0 ] |

(2)  FEq MHR % Tewl % Ad eI F @re Wewe s T T TEdl Kl A T |

-, -

(3) =T e9 N o Teel W fa=rel w1 gar T

(4) =1 H Afuer gl o Al & St = A8 1 T

frefafad § ¥ SF-91 9HE7d 2Tdel Hia T8 © 7

(1) speel (2) = (3) = (4) 94
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20.

Match the items of List - I with those of List - II; and choose the correct code of combination
List - | List - 11
(a) A commitlee consist of a group of people (1) C.I. Barnard
specifically designated to perform some
administrative work

(b)  Staff service in organisation means the service (i)  W.H. Newman
or advice or council, as distinguished from
the function of authority or command

(c)  QOrganisation is informal when the aggregale (i) McFarland
interpersonal relationships are without
conscious joint purpose

(d)  An idenlifiable group of people contributing their (iv) James D. Mooney
cfforts towards the attainment of goals 1s called

organisation
Code :

(@) (b) () (d)
(1) Q) @v) (n ()
(2) vy (i) @) ()
(3)  Gv) ) @ 1)
(4) @ @) (v) ()

Which among the [ollowing is not a phyvsical barrier of communication ?

(1)  Poor vocabulary (2)  Noise

(3)  Improper time (4} Overload information

Statement - 1
Statement - 11 ;

Management control secks to compel events to conform to plans.
Controlling is delermining what is motivational to the employees of the
organization.

(1)  Statement - I 15 correct but II 15 incorrect

Assertion (A) :

Reasoning (R) :

) Statementl - IT is correct but I is incorrect
(3)  Both the statements T and IT are correct
) Both the statements I and 11 are incorrect

Sound planning is one of the essential clements for the success of corporate
entities.

Planning is deciding in advance what is to be done. It involves the selection
of objectives, policies, procedures and programmes from among alternatives.

(1) Both (A) and (R) are correct and (R) 1s the right explanation of (A).

) Both (A) and (R) are correct but (R) is not the right explanation of (A).
(3)  Both the sltatements (A) and {R) are incorrect.
) (A) 1s correct but (R) is incorrect.
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17. =it - 13 721 = gl - 11 & 7a) § gafad S0 $R 98 % 9aeE 96|
Tl - 1 =l - 11

(a) U 9iOfq 39wk wE I R g AvE e (1) "LEE. e
o Tige =l <l 2, ored =afeaal &1 U 998 2 Tl

(b) ETeT H WIE A FHAN TG ¥ AN 10 S § S (i) See, A, =
sfmr 77 fdve o = g T

() 98 U A & Tauy 98l Ho" STqq el (i) HERIwUS
A I5.¥A o o 994 7l

(d) ek Afvad =afeq T8 o g/ 94T &) 9@ 29 fve (iv) S L gl
ST STel FF1 Rl & 989 Fed © |

ehd ;
(a)  (b) (¢} (d)
(1) G (v) @) ()
(2)  Ov) () () ()
(3)  Ov) @) @ ()
4) O G (v) (i)
18, T=fafEd o ¥ -9 Gare § Hifdes a1 & ¢ 2
(1) YrEgrarett =1 (2) WX
(3) I T (4) AU g

19. YT - 1:  Ta EEm a2 9uTEd w7 & oy "eAst w9 e
THUT - 11 : TR T4 & =] o g AUt F1 © 39 e 997 2
ohd
(1) = 1 W2l § oy 11 ¥ 721 2|
(2)  HUA 11 9el § oy 1 921 21 ©
(3) FUF 1R I 3F 9 B
(4) A1 SR 11 SHT T2 RS

20. AMURAT (A): I I fmr i aﬁﬁmﬁmﬂ qEeAdl o ol Uan SATErd 9@ 2|

T (R) : AT A FT T 91 § 39k 9 ° gl vl o © ) 3 fameni § 9
Seavdi, i, gfehastl 3R SRl = =e Aimfad gl B

che :

(1) {A)& R) F1 W1 § 317 (R), (A) 1 el =& |

@) (A) (R A1 Tel € g (R), (A) 1 TR = T 2

(3) YA (A) SR (R) TH W&l 781 2

\ﬁ.

(4) (A) TR T 1(1«1) el T 2
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21.  Match the items of List - I with List - IT and denote the code of correct matching :

List - I List - II

(a)  Acceptability (1)  Convenience Aspecl
(b)  Alfordability (1)  Functional and Psychological Aspects
(c)  Accessibility (1)  Information and knowledge Aspocts
(d)  Awareness (iv)  Fconomic and Psychological Aspoects
Code

(@) (b)) (o) (d)
(1y (i) (i () (v
(2) @) @) @) (v)
(3) @) (v @ (i)
(4)  (v) @) @ ()

22.  Malch the items of List - I with the items of List - IT which are related to dimensions of brand
personality. Denote the code of correct matching.

List - I List - II
(a)  Sincerily (i)  Upper class, Charming
(b)  Excitement (ii) ~ Reliable, Intelligent, Successiul
(c)  Competence (iif)  Down to carth, Cheerful, Wholesome
(d)  Sophistication (iv) Qutdoors, Tough
(e)  Ruggedness (v)  Spirited, Imaginative, Up-to-date
Code
@ ® (© (@ ()
By w6 O 6 )
@ 0 (v @) ) W
() (i) ) @ @ @)
@ W O @ @ W)

23.  One of the techniques of stimulating creativity for developing new product where vou start
with an idea then thinking of the next idea and link, then think of the next associalion and
do this with all association that come up with ecach new idea, is known as .

(1)  Attribute Listing (2)  Forced Relationship
(3)  New Contexts (4)  Mind Mapping
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T - 1 %l Hal 0 T - 11 % |19 gHiad e ST A= 90 T Hal 2 &l 0T

Tl -1 T - 11
(a) AR i)l v
(b) =R &l (i) RS SR AR Te
(¢) STl (it1)  FEAT S T
(d) ety (iv) smfede 2 gt 7o
<hd ;
(@) (b) (o) (d)
O 0 @@ @ @)
(2) () @) @ Gv)
3y () (v) () (i)
(4  (v) (@ () (i)

SeuTg Afecel § Hellee 3TATHl = Gell - [ 31 el § Gl - 1131 5l = w1 Gafer H1 | T %He =l
AT |

Tl - 1 =il - 11
(a) TR (i) == o, WA
(b) IS (i) TorwaeHE, Jfgam, %
() wH (iif) STHM 9 ST g3, Guiass, feaerrd
(d) HHE (iv) T, FER
() =3 (v) SIS, shegameiie], STEd
he @
(@) (b) () (d) (e)
() (v @) @) (D) @v)
(2) 0y Ov) @) [ (v)
(3) @) (v) @) @ av)
(4) () @ @y (v) (v)

T3 TeqTe ohl TaenTid & o ToT0 ToHTcHehd] ohi SeiTid i =i dehdichl § W Weh o121 #T9 Teh To=r

o WY STRY I 8 (B 377l (o= o 9§ 9red 2 31 96 Sled 2, 39 o1e o7l 9eH & o |

- -
e

e § SR |4l HeHl o W19 UHT 99 9ok %l § S99 Uan 341 (=91 ST %, 1 gd ©

(1) 701 HATeGEHT] (2) aIY HaY

=

(3) e[ HeY (4)  AfEgeen A=
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Statement - 11 We are motivated to re-evaluate our beliefs, attitudes, opinions or values
occurred al two different time.

Statement - 11 : The difference due to some intervention occurred at either point of time
motivates us to search a newer option and thus satisfies our mind/ anxiety.

Code :

(1)  Statement - I is correct, Statement - 1T 1s not correct.
(2)  Statement - II is correct, Statement - 1 is not correct,
(3)  Both statements arve correct.

(4)  Both slalements are incorrect.

Operating Leverage and I'inancial Leverage of a firm are 3 and 2, respectively. Il sales increase
by 6%, then carnings before tax will risc by -
(1) 18% (2) 12% (3) 36% (4) 30%

Match the items of List - [ with those of List - [1 and indicate the correct code -

List - I List - I1
(a) Net Income Approach (i)  Working Capital Management
(b)  Profitability Index (ify  Over- capiltalisation
(¢)  Concentration Banking (i11) Capital Structure Planning
(d)  Lower Rate of Return (iv) Capital Budgeting Decision

(@) (b) (e}
(i)  (@v) @
(i) (v) @G) @
(
(

e

(iv) (i) (i)
(i) (L) Q)

Statement - I :  In pavback period method, the risk of the project is adjusted by lessening
the target pavback period.

Statement - IT : Sensilivity Analysis helps in calculation of net present value of the proposal.

Code :

(1)  Statement - I 1s correct, but statement - IT 1s wrong

(2)  Statement - I is wrong, but statement - IT is correct
(3)  Statement - I and statement - 11, both are correct
(4)  Statement - I and statement - II, both are wrong,

Dividend irrelevance argument of MM Model 15 based on :
(1) Hedging, (2)  Issue of Debenlures
(3)  Taquidity (4)  Arbitrage
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HAT - 1: B < T4 U A gu A9 fagamdi, Afvgial, adi s19m gedi sl gagediied i
& e ufa g € |

He - 11 ; Tl off Tm o Tohdl 35087 B o R g 9= g4 =4 faehed &l aam & oy uia
FA & 31T 39 YhR 21 19+ Afeash/ fgrar 1 |q8 +3d € |

ohd

(1) 99 -1 5 8, FoH - 11 981 T2 2|

(2) U -I1HEl B, FHUT - 1 91 7l |

(3) T ®YA HEl |

(4)  EHI HUA T E |

T4l ®H 1 TREH S SR [axiig SHiees w9 3 3R 2 €1 afe Tkl 6% =gl 8, f 2 ga
st ® gfg g

(1) 18% 2y 12% 3) 36% (4) 30%

Tl - 1 oh 9al =] Tl - 113 Ael 9 gl ity S 9El $2 3000h i

eIl -1 T - 11

(a) IS AH IHH (i) A GSil GeHA
(b)  TYWEHT AR (i)  Afa-gsrHTo

(c) Helgd SifehT (i) YSIl @i A
(d) gaE @ 7 =T (iv) gsil ssted o

<hd ;

(@) (b) () |
(1) () (v) @ (i)
(2) () (v) (1) (i
(3)  (v) (i) (i) (4
(4) (W @ @ (v)

d)

e

e

T -1 weread arafy vefa o «fesg yearads srafy =) 9 w3 vfegemr 9 gwafg Sifey =50

TaETtsTa forar s 2
SR - [1: FagAefiarar faversur Tara = ¥g ddHH He =i TUHET T H 9grAdal i g |
ehe :
[~

(1) oA - 1% g, fohg o - I 7Tefd € |
(2) FYA - 17ed g, fohg e - 11 981 |
)
)

-2

(3)  FHIF - 1 3 FF - 11 AT T E |
(4) T - [ SR FH2H - 3] T § |

0H UH YiaET 1 A9 SAqrEiTdRar qeh i ©

(1) = (2) R T A
(3) e (4) AR
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29.

Match the items of List - I with List - II and indicate the correct code of their matching
relating to human resource management philosophy :

List -1 List - I1
(a) Rational System Approach (1)  FE.W. Tavlor
(b)  The Ahmedabad Experiments (i)  Max Weber’s theory of burcaucracy

to improve productivity
(c)  Social System Approach (i)  AK. Rice

(d) Tunctional organisation concept (iv) Hawthorne studies

@ (b)) () (d)
(i) (v) ()
() (1) (v) ()
(v) () ()
) (M ()

Which one of the following is not a method of deciding acceptable level of reliability or
consistency of measurement in selection methods ?

(1)  Reprocentric approach (2)  Split hall method

(3)  Test related method (4) Expectancy diagrams

Put the following steps of discrete sclection process in correct sequence and sclect the correct
code :

(a) Preliminary interview

(b)  Completion of application blank
c)  Background investigalion

d)  Physical examination

(

(

(e)  Employment lests

(f)  Comprchensive mterview
(

¢)  Final employment decision

(1) (b), (&), (¢), (d), (e), (B}, (g) (2)  (b), (@), (&), (£), (¢), (d), (g)
(3)  (a), (b), (e), (), (¢), (d), (g) (4) (), (b), (d), (), (e), (F), (g)
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29. Hell-1 o A RIFA -1 F Al H g
T U FE THTA il |
Tl - 1

(a) TdehTeh ggid I
()
(c) H|THITSTER FoTeAt TGl
() HTAIHeR HITST STER
<hd

(@) (b) () (d)
(1) ) @v) @)
(2) (i) (@) (Gv) (@)
(3)  (v) () @ (1)
(4) (i) (@ G (iv)
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feTd anI\fEk AN AT THEA G- MI'JI o 4T 3Rk H

=t - 11
(i) TUHIseg, ol

IeIIGHAl oM o fou STEHSEE WArT (i) FERTET 1 W 9 1 fagr

(i) T, TEH

(iv) T 31eEA

T UgidA B AW i Torvara==ar A1 YEIdr & Wi Wk e w1 uglia e o | s TE

g2
(D
(3)

ol

tfsaardfes arm

LETIT HeTed Tagfd

[

2y Taufsa a4 wgfa

(4) TR e

gk =9F YAl o Tefafed #el = 98 %0 ° TEn a91 T Fe F1 999 Fie

(a)
(b)
(c)
(d)
(e)
(f)

rerfeR T
e sArele &l gul hiAl
9BYH ST

Arediass <9

IS, TLTeTm

HHT HIETh T

sAfam TR fof7
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32.

8
ey

34.

Match List - I with List - II relating to wage theories and its propounders and indicate the

code represenling correct malching :

List - I
(Theory)
(a)  Subsistence Theory

(b)  Surplus Value Theory

(¢)  Wage Fund Theory

List - 11
(Propounder)
(i)  Karl Marx
(if)  Francis Walker
(1) David Richardo

(d)  Residual Claimant Theory (iv)  Adam Smith
Code :
(@) (b)) (o) (d)
(1) @) () @ ()
(2)  Gv) () () (i)
(3) () (1 () (i)
(h)  (wv) () (m) ()

When was paper currency first started in India 7

(1) 1542

(

2)

1611 (3) 1705 ) 1801

‘RWA" with regard to capital adequacy stands for which one of the following ?
(1)  Risk Withdrawal Adjustments  (2) Risk Withdrawal Arrangements

(3)  Risk Weighted Assels

(4)  Risk-free Weighted Assels

Match the itoms of List - T with List - IT and denote the code of correct matchin g

List - I
(a) Tuture

(h)  Swap

(¢)  Hedging

(d)  Forward

Codo::

(a) (b)
(1) (iv) (i1l
(2) (H (i)
(3) (i) (@)
(4)  (iv) (i)

(¢)
(11)
(1i)
{111)

i

(_

111}

1v)

List - II
Consists of purchase or sale of commodities in two different
markets with the expectations that a fulure change in price in
one  market will be off set by an opposite change in the other
markel
A contract in which a seller agrees to deliver an assel lo a buver
at a predetermined price al some future date as privately
negotiated
A contractual agreement for exchanging a steam of payments
with opposite and matching needs, to reap the benefit arising
due to market discrepancies
A contract covering the purchase and sale ol phyvsical
commodities or financial instruments for future delivery on a
future exchange floor
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32,

34.

R

Aoigdl Tl o g8k gfadraehi = HeE H g - 1 37 Fei - 11 ] GHferd SIS 997 Wal 3ol
S¥I ATel Fe I SfE it |

Tl - 1 gl - 11

(=) BIGEIEED
(a) frare fagr (i) =T A
by &R goa fagr (il)  WRITEH HTRT
(c) weigd Tfy fagra (i) sfae fewel
(d) 3R SRER Tag (iv) TsH Y
che :

(@) (b} ()

( (
M @6
(2) (iv) (1) (i)  (iid)
(3) () () (v) (i)
(4) Ov) @) @y d
AT | <RRTS 2l ohel Y g8 2
(1) 1542 (2) 1611 (3) 1705 (4) 1801
‘eTR E5eg T % WY Yt gATEd & Hed ¥ frafatag § ¥ i W Fefta g2
(1) siifEs fafereddn gaas (2)  SiiEy Tafelddr saen
(3) Sifam aifa wufr (4)  <ifEm Tea it gt
It - 11 Gl - 11 919 goferd =1 3R 921 fasen =1 fafga =1
Tl - 1 Tl - 11
(a) PR (i)  =Rgel =1 g fafyer arsiRi | 59 I9is & |1y %A fawa wifae § i@

qfers | Uk SIS H 21 & Yoo giEd o &ffddid g6 95R H 2 1§
FaradTd IiEde o 21 ST |

(b) = (i) U "iagr faad s =1 U famasal ww gufa =1 4501 dr w1 {3
T |E % SATER U Jd MU simg 1 vos | el fafs «
e % fou |gnd gl © |

(c) @i (i) SITSTR =1 S{HAT § ST ©H h1 YTH T <k o1l Ueh Hiael qHem
TSTerd fermdid we §H STeaggeRarest o Told de =kl GrcdTiad T
EIGIEY

(d) ®EE (iv) Wek Eieer fsrad Hifder aegsil sToa fF=iig HisH! 1 Ush R U ol
% ae W vfas o gyt & foe wa-fagwa 1 auEy 81

he :

(a) (b)) (e)
(1) (v} (i) ()
(2) () () () (v
(3) () ®
(4) () () @
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36.

40.

Which of the following are the forms of e - banking 7 Select the correct code.
(a) Internet Banking

(b)  Telephone Banking

(¢} Electronic Cheque Conversion

(d) Llectronic Bill Pavment

(e}  Direct 'und Transfer Through RTGS

Code :
(1)  (a), {c) and (d) (2)  (a), (b), (c) and (d)
(3) (b}, (c) and (d) (4)  (a), (b), (¢}, (d) and (e)

Which one among the following has the largest share of exports from India ?
(1)  Agriculture and Allied Commuodity

(2)  Gems and Jewellery

(3)  Handicrafts

(4)  Electronic Goods

Which one among the f()ﬂ(fn-x-'mg 1s not a part of TRIPS agreement 7

(1) Industrial Design (2)  Geographical Indications
(3)  Interior Design (4)  Layout Designs ol Integrated Circuits

Which one among the following is not correct 7

(1)  IMI's headquarters is in Washington, D.C.

[~

)
) IMF has 198 countries as its members.

3)  IMF is an outcome of the Bretton Woods Conference.
)

IME was found on July 7, 1944,

__,..—\.\‘__,..—..\‘__,..—..‘_

4

Statement - I :  Served From India Scheme (SFIS) has been replaced with Service Exports

from India Scheme (SEIS).

Statement - IT : The rate of reward under 5LIS would be based on net foreign exchange

carnaod.
Code
(1)  Statement - I is correct but statement - IT is incorrect.
Statement - I 1s correct but statement - [ s incorrect.

)
(3)  Both the statements - T and I are incorrect.
) Both the stalements - I and II are correct.
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36.

39.

4().

Frifeara ﬁﬁaﬁmﬁé-a{emaqmq%m@r%zwmﬁl

-
Ex

_1_/
i;

FACT

,_._.,\
*-._.f
B J{.I"l

™

( ) drﬂl'%:ld CIER

(c) AR =eh IHad

CIESEARERESIRGIE
(¢) RTGS g =KWl T Gede gEIai]

<he
(1) (a), () ¥ (d) (2)  (a), (b), () I (d)
(3) (b)), () 31T (d) (4) (), (b), (), (d) 3 ()

fre1 & o g, ura © fama o wew g ez g2
1T

(1) = 37 wafyg awmd
(2) T 3R AT
Ilmr) o : e

(4)  FlRIeR HHMH

foet 3 9 w0 T 4 o1 9 o () S e s

(1) e erfyemey (2)  spnfes T
() zeIfer fesem (4)  wEHa uftfy g & afimey

e § & Fe-= wE 17§ 2
(1)  STaU™ a1 FIY o1 JEATd Aenea, SLEL H 21
AU g1 FIY F 198 TGET ¥ |

2)
(3) AT Hgl Y 524 26 T 1 TR 2 |
)

(4)  STTUSETE Hel I hi TATGAT 7 S[eire, 1944 1 g3 |

heF - [ UE 9 "fgd AT (U9 U% 2078 UH) & 9 9 Uo7 f9979 a1 (19 3 24 g o

gfaeenfug foar T 21
TR - 11 : TH T 3TE UH & 3Aid TR ki T Aa e fae

-,

1) FH¥H- 1HeT 8, fohg oM - 11 51 =2 2
D) oA - [ WEl € fohg e - 1 W21 61 2

3) -1 R FOF - 11 AT TR T F
4)  HUA - 1 3w - 11 S w e

91T HeT T AT BT |
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41.

42.

43.

44.

Your Personal Exams Guide

Match the items of List - I with those of List - IT and indicate the correct code :

List - I List - II
(Accounting standard) (Relationship)
(a) AS5-6 (i)  Accounting for Consolidated Financial Statements
(by AS5-3 (ii)  Accounting For Fixed Assets
(c) AS5-10 (iii)y Depreciation Accounting
(d} AS-21 (iv)  Accounting For Cash Flow Stalement

(a) (b) (e

(
1) @ (@) @ @
(2) (i) (i) @) (@
(3) vy () @ (i)
& @ ) ) (iv)

Which of the following statements are False 7 Indicate the correct code,

(a) RBI has prescribed guidelines for the operations of credit raling agencies in India.
(by  All venture capital funds in India have been promoted by Government.

(¢) A mutual fund can operate as venture capital fund.

(d)  Credit rating is an authoritative guarantee regarding the credit position of a person.
Code :

(1)  (a), (b), (c) and (d) (2)  (a), (b) and (d)

(3} (a), (b) and (¢) (4) (a) and (c)

Which of the following arc the examples of systematic risk ? Indicate the correct code.
(a)  Elimination of Government Subsidy

(b)  Increase in Bank Rate

(c)  Labour Problem

(d)  Tigh Levered Fund

Code :
(1} {a), (b) and (¢) (2)  (a), (b) and (d)
(3)  (a) and (b] (4) (a) and (d)

Which of the following are the benefits of responsibility accounting ?

(a) It facilitates the centralisation of decision taking.

(b) It provides a system of closer control.

(c) It measures the performance of individuals in an objective manner.

(d) It develops a sense of cosl consciousness among managers and their subordinates.
Cadhed

(1)  (a), (b) and (c) (2)  (b), (¢) and (d)

(3) (&), (b) and (d) (4)  (a), (¢) and (d)
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41. T - 1 ki 937 =hl T - 11 i 7l 9 GHfeld hifST qe1 920 o2 ST .

gl - 1 g - 11
(TTETeRT ) (T
(a) TUH -6 (i)  wHfeRd e Toeu-gel skl oRgih
(b) WU -3 (i) T Il 1 TETeRn
(¢) TTHE -10 (it) @Y ik
(d) wuH, -21 (iv) ks gaTg faater u31 =1 e
ke :

d)

(a) (b} (e)
(1) (i) (iv) (i) (D)
(2) {iii) (tv) (1) (i)
(3)  (v) @) (@) (D)
(4) (i) (i) (i) (iv)
42. TI=fAREd H ¥ $F W HUH 7T © 7 Hal 2 A il
(a) WA H WG Hedieh SR & qiierer € (69 e Wik fstel s gy fHeifd e e E
(b) uRa H w4t i IS ®IN IR g vafad e e g
(c) WA Fifir ueh Wrelier qi I Hi 918 HH FR HHdl § |
(d) EME FUigA ToREl =i ol | sl ReIfd o Held § Toh Siehiiih Tl ¢ |

che :
0 (@) (b), (©) () 2) (@), (b) ¥R (d)
() (@), (b) SR () (4) (@) #R ()

[

43, Tr=fafEa § @ 0-9 srafiud Sifeg & 335 € 2 949 %2 2 sife
(a) EHTl HWE-TMY 1 Il
(b) & W H I

(c) &9 gaE

(d) = AT I

EEE . ‘

(1) (@), (b) 3 {¢) (2)  (a), (b) S (d)
(3)  (a) S (b) (4)  (a) S (d)

44, Trefafge & 9 =F-9 stfaa ogisT 5 T §?
(a) I 0799 & =T ] g R T
)

(b) % FHLar M 1 U U5id U3 H3T 3 |

(¢) a8 AfFadi & 1 Foqea 61 I8 Tk d A9 T € |

(d) I8 gI=Hehi 3R Fch AYE o S= ARG STl i 9IE1 i Toehfad = 2 |
<hd

D) (), (b) () (2)  (b), (¢) S (d)

(3)  (a), (b) 3R () (4)  (a), (c) 3R (d)
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46.

47.

48.

49.

Which of the following statements are True 7 Indicate the correct code.

(a) Tax-shield on depreciation and interest is an important variable both for lessor and
lessee.

(b) A lessee mav evaluate the lease options as against the buying option.

(c)  Sale and Lease-back, and leveraged lease are types of financial lease.

(d)  Lease financing is a type of capital budgeting decision from the point of view of the

lessee,
Code :
(1) (a), (b) and (d) (2) (b}, (c) and (d)
(3)  (a), (c) and (d) (4) (a), (b) and (c)

Which one of the following methods of Inflation Accounting has been proposed by Sandilands
Committee of UK ?

(1)  General Price Level Method

(2)  Specilic Price Level Method

(3)  Current Cost Accounting Method

(4)  Generally Accepted Accounting Principles

Which of the following are the motives of mergers 7 Indicate the correct code.
(a)  To gain the economies ol scale.

(b)  To utilise under - utilised resources.

(c)  To break the monopoly.

(d})  To reduce the tax lability.

Code :
(1) (a), (¢) and (d) (2)  (a), (b) and (d)
(3) (b}, (¢} and (d) (4 (a), (b) and (¢

A rescarch techmique vsed particularly in retatling (online and offline), in which consumers
are recruited by researchers to acl as anonvmous buvers in order to evaluale customer
satisfaction, service quality and customer’s own evaluation of their experiences, is known

as
(1)  Consumer Jury (2)  Projective Technique
(3)  Mystery Shopping (4)  Semiotic Research

Match the items of List - T with items of List - II and select the correct code of

matching :
List -1 List - II
(a)  Market Leader (1) Avoid hostile attacks on rivals

(by  Market Challenger
(c)  Market Follower
(d)  Market Nicher
Code :
@ () (©
O W) 6@
@ @) V)
@) ) 0 )
@ ) () (i)

ii)  Attack the markel leader
iii)  Provide high level of specialisation
iv)  Attack the market

e R
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45.

46.

47.

183.

49,

-

(%)

=

feafafaa sedl 8 9 SF-1 T8 € 7 9 %2 307 =i |

TEZIETAT ST Te Ul 2F1 % o0 7 iR &A19T TR R 2T U Hed g =R T
Ueh TR o o faahedl sl o H 9Z2fashed] 1 Jedichd &l ¥kl ¢ |
forent $iX g9, o1 Seiereh 1221 foiid a2el % JehR 2 |

T o SiEeRIT § e foien U TR 1 it ssied i g

(1)
o)

(a), (b) X (d) (2)  (b), () $IR (d)
(), () SR (d) (4)  (a), (b) SR (Q)
Tel-99R wra@i®A &1 e fafuai o @ sm-w fafy 7.5 %1 drdeie afufa g vearfaq =i
HH o T Ay (2) Tof¥w gog ¥ 4
ATe] ST oREieRa fafe (4)  EMEHE Wi o g

FfeRgd § | SA-4 faeTa-] <k 3599 ¢ 2 98 $he SR it |

(a)
()
(c)
(d)

ehe :

(1)
(3)

g2 T =1 faasataaedl =1 oy 7ra &3 |
ST - HHIEAT T STATT LT |
TShTTHeRTY =hl TS |

T SIfacdl il FH FLAT

(a), (c) 3R (d) 2) (@), (b) SR ()
(b), (c) 1 (d) () (a), (b) 3 ()
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-
4

+

Teh UHT (2ATees a1 “Afkeneq) e fafy =t fagmer fefan § wam =t st 2, f9ad s
IUHEIIAT 1 TR a1 g Alfch o STUHERT T, HalT e 991 SUHET o ST i & Jedish
1 THAM SYHFIS] & T9 H HoAiThd 6% &, FHedK] © :

(1)
(3)

Ul TR Area (2) WA R
TEHE Eegr (4)  <TEUR e

gt - 1 % &I I = - 115 Ta o |1 gofed 1 3T 931 F2 & 30 =1

(a)
()
(c)

(d)

[N

(1)
(2)
(3)
(4)

T - 1 = - 11
ATSTR T (iy  Sfaerel R ufdaefl STeRmo &l 2l ¢
ST AT Rl (i)  STSIR a1 O ST 1 3§ |
ST STl (i) 3= T (Il STeTed A ¢ |
ST 37T (iv) SITSIT T2 ST 3 & |

(@) (b) ()
(iv) () (@)
(i) (v) (i)
(i) @ (v)
(B ) {v)




www.prepp.in

51,

52.

Which of the statements are correct ? Select correct code.

Statement (I) :  Opinions can be described as the slow responses we might give to opinion
poll questions about any issue.

Statement (II) : Attitudes are held with a greater degree of conviction, over longer duration
and more likely to mfluence behaviour.

Statement (III) : Values are held more Sh‘ongl}f than attitudes and underpin our attitudinal
behaviour.

Code :
(1) (1) and (1) (2) (1) and (11I) (3) (1) and (1) (4) (1), (1) and (11I)

Which of the [ollowing is nol a major aspect of digital marketing ?

(1) Jurisdiction (2)  Ownership (3)  Security (4)  Entertainment

Which of the [ollowing slalements are correct 7 Select the correct code.

Statement (I) : Horizontal conflict belween channel members is caused due to channel
members impinge on the market territory of other intermediaries at different
level.

Statement (II) @ Vertical conflict is caused due to intense price competition, disagreement
about promotional aclivities, attempts to byvpass intermediary and distribute
direct, difforing oxpectations as to channel or mtermediary performance.

5 ¥ 1

Statement (III) : Hybrid channcl conflict arises due to groy marketing.
Code :

(1) (T) and (TIT) (2)  (I) and (IT)

(3) (1) and (IIT) (4) (I}, (IT) and (IIT)

Which of the following statements are incorrect 7 Indicate the correct code.

Statement (I) :  As consumer’s income mcreascs, the percentage of income spent for food
items decreases, for rent, fuel and light remains the same, for clothing remains
the same and [or sundries increases.

Statement (II) : Societal marketing period was from 1960 onwards.

Statement (IIT) : Our debt to social anthropology decreases more and more as we use
Jualitative market research approaches.

Statement (I'V) : The economic concepts of perfect competition and matching of supply and
demand underlie the markeling concepl, particularly in relation to the
concepts of the price at which goods are sold and quantity distributed.

Code :
(1) (1) and (IT) (2)  (IT) and (IIT)
(3} (IT) and (TV) (4)  (I) and (TV)
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I W YA |l © 7 el $h2 o T4 il |

HT ([) 1 HeTE oI, Thdl §2 & I) H w19 24 [ohell S9d |8 o o0 §& Yo <d €, 6 3R AU

FLHRA B |
A (11) : ATyl ot eaf 6t araast] & W 990 § R U9 S9eer & gdied S 2

e (I10) :qed, Agia &1 gan H Iy geal ¥ ST 2id 8 991 SHagRiay sJeRR i

EEGES
<he
(1) (D) 3R () (2) (1) SR (1) (3) () SR (1) (4) (D), (1) W ()

eifFa § +F 91 UF fefSea faumd =1 @1 e 98 72

(1)  &=fEgesr (2) EEHe (3) e (4)  HARSH

feeifsra o © 19 ¥ oK TE 2 Wl FiT BT AT Hifon |
HUA (1) : = GEA & 9ra Afaet e g 99e 9l % g fafis il ot o=y g
ST &7 | SATTRHA0 T o I Bl 2 |

HUT (11) : Feel GoY, G i § staegafd, did god giasas], geaey &l SUETR i 99
gl & WeyH = Ta%g f9=-Ty=7 stoemeti =5 g =F 0T gidr ¢ |

R (111) : TR =t HoN Jeaadl U HTehit < R0 2 2|

che :
(1) @ siw (2) (1) SR
(3)  (IT) ¥ (1) (4) (), (In) S (110)

freifera § 9 M O FuH 193 § 2 WEl e IAa Fitag |

HUT (1) : S NG ST Tl 719 92! &, T Teel W A 5 & 9 7924l €, o, 196 uE
TeRTYT W WO &l §, FUS| o (ol THH T8al § a1 o1 fafay s o =9 < ©

TR (10) : HHISh foquH s7el 1960 | T =Rl o7 |

TR (111) : TN WHINseR HHa Toea 0 el STk ¥ 31fEes =2 911 8 9y 59 Y9 TUIeHe aTeii
STTAYTA ZITehTT 1 AT L % |

T (IV) : 707 wfaemst =1 anfefer fogra o omafd gen =in =1 9o fauoe seemon fad =9 9
AT @t faeRd 22 SR Wiaaia 9 i Seunon § e1iifed 2 |

che :
(1) (1) 3R (I (2) (N #R (1)
(3) () R V) (4 (SR 1Y)
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56.

Which of the following statements are correct 7 Indicate the correct code.

Statement (I) :  Virtue cthics 1s a form ol ethical approach associated with Aristotle which
stresses the importance of developing virtuous principles, ‘right” character
and the pursuit of a virtuous life.

Statement (I1) : Utilitarianism is an cthical approach where an action is right if, and only if,
it conforms to the principle of utility, whereby utility is minimised and pain
and unhappinecss minimised more than any alternative.

Statement (III) : ‘Deontological Lthics” is an ethical approach where rightness or wrongness
of an action or decision is not judged to be based exclusively on the
consequences of that action or decision.

Code :

(1y (1), (1) and (I1I) (2) (1) and (1I) (3) (1) and (11I) (4) (1) and (11I)

Assertion (A) : The matter of succession planning is often deferred.

Reasoning (R) : The succession charts need utmost confidentiality.

Code :

(1)  (A) is correct and (R) is right reasoning of it.

(2)  (A) is correct but (R} is not the correct reasoning of it.
(3)  (A) is correct but (R) is not correct statement.

(4)  (A) is not correct while (R) is a correct statement.

Bethel Maine of USA was the pioneer of which one of the following Laboralory lraining
methods of employee training 7

(1)  Transactional Analysis (2)  Business Games

(3)  Critical Incident Technigque (4)  T-group

Which of the following statements relating to appraisal methods are not correct 7 Indicate
the correct code.

Statement (I) : The MBQO program is built on the assumption that individuals always need
not be responsible and self - directed and thus need to be motivated to work
towards objoctives.

Statement (II) : Forced distribution method was developed by Karl Marx.

Statement (IIT) : Peer evaluation and self - appraisal need to be done on well - defined
parameters in check-list method.

Statement (IV) : Forced choice method consists of seven main factors on three point rating
scale.

Code :
(1)  Statements (T) and (1) (2)  Statements (TIT) and (TV)
(3)  Statements (1), (11} and (III) (4)  Statements (1), (1}, (III) and (IV)
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FeITerd ® | A © 919 921 € 2 |al 2 ] SATA il |

YA ([) : T Aiderdr 1035 o graf-4d Afas gl &1 Ut €9 © 51 Siead G & fawm
we Hel A 3N Teh FFa Sod i | 9 S <dl 2 |

I (II) : ITANTAER a8 A% U § 9El Fls w1 Fad adl T8 g © <19 98 SuAfiar &

g & 319 2, T9ad YA =709 Bl § 991 22 U4 398 Tohdl +f 21 fosheq &1
Tt H =FaH BT T

HYA (111) :* Fesim2erfsene Hifa’ T U Afaw giesmm € skl ot = a1 fo =1 5=l =1 o
27 39 S =7 Tvtg < uftonel & sram W S o B 9 Alded 8] w2

ohe
(1) (1), (1) 3R (11 2) (1) FRY (3) (D R (4) (W) ST ()

AT (A) :  STUTHHR A 1 foog g TG o S |

T (R) : ST = H 21t U] T8 B STeavaddl Bl ©
he :

(1) (A) 9l T 3R (R) THHR1 Tl Th T |

(2) (A) 9e1 & TR (R) 391 W&l @k 81 6 |

(3) (A) W& T fg (R) & T A €

(4) (A) W& 79 § wafE (R) 98 F2H ©

SR =T S99 HA T=taiad 5 9 o =] JioeT sl GarT9mel] 991701 Yaiddi ol Taldeh o 7

(1) HemEEE favey (2) EAEETE T
(3) HEAYY HIAT ARl 4) -

qea Tgiaal o "ad H HefafEa e ¥ %97 98 78l 2 e He I 507 i

HUT (1) : TH S 3 FEFRY 1 0 @ 9= W A § TR At i g9l g STReEl a9
- Tf91d B T STEvaHal 981 gl 21 TH YhR 32941 = UTd &1 &1 < 317497y
SATATTRAT Bt 2 |

S (1) : e faawo ugfa =1 famm et 7= % g fwar ma an)

THeM (1) :  THee Jodihd SR W-Todisd, sa g9 9@ H o AFes] | & &)
STEvAFHA Bl © |

- e

T (IV) : SoRd 994 Ugfd § diF g o ol 99 T 91 987 %Ra 90 8 ¢ |
che :

(1) = (1) R (1) (2) U (111) 3T (1V)

(3) /I (T), (IT) 3R (1) (4) /I (D), (), (ITT) SR (V)
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Match the main concerns of HRD sub-systems given in List - I with List - IT and choose the

correct code of malching :
List - I

(HRI) sub - systems)
(a)  Individual's carcer
(b)  Development of teams
(c)  Socialisation of organisation
(d)  Management of organization
Code :

@ () (© (d
1) ) v ()
@) (v) (i) (i) ()
Gy i) 0 () ()
@) ) @O v

(i1)
(ii)

1v)

—

List - II
(Main concerns)

Competence
Power
Commitment and integration

Values

Match the items of List - 1 with List - [T and indicate the correct code of t'natc:hing :

List - I
(Wage Theory)

(a)  Subsistence theory

(b)  Surplus value theory of wages

(c)  Wage Fund theory

(d)  Residual Claimant theory

(@ (b)) ()
) vy W @
2) (i) (v) () (i)
) (i) (@) D)
) (O () (v)

(1)

(111)
(iv)

List - 1I
(Basis of determining wage)
Capitalists first set aside predetermined surplus
income and then decide the wages

Growth of the population brings down to level
of subsistence

Balance claimed upon the outpul of industry

Natural price [or labour

Statement (I) :  Selection of wrong criteria during performance appraisal can result in serious

dvsfunctional conscequences.
] I

Statement (II) : Generally the evaluator becomes more critical about performance evaluation
lechnique rather than which criteria need to be evalualed.

Code :

(1) Both the statements are correct.

[~

L

(
(
(4

Both the statements are incorrect.

) Statement - I is correct while statement - I 1s incorrect.
) Statement - I is incorrect while statement - 11 is correct.
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el - 1 H U 70 AHe GHieE foenrd sl S9-Uonferal o qed Ui o1 Gefl - [1 & J& JUshil §
(HETH =hITS T Hel =1 W8l $e T :
eIl - 1 =it - 11
(ATATEETEA Teeht® 3u-YoTTe) (T TR

(a) AT I ST I () =&
(b) 28 = o (i) e
(c) HTSA F FHTSHHI (i) Ufderg 3TR Tehleht
(d)  HTSA =l Ja-4A (iv) Hod
X

(@) (b) (c) (d)
(1) () (v) (1) (i)
(2)  (w) Gy (i) (D)
(3) (i) (@) (v) (i)
(4) () @) @) (iv)
gl - 13 Tl 1 gl - 11 % 7a) o foerms Fwifsg &) e &1 98! §2 307d Fifa

el - 1 el - 11

( et T ) ( weTet faeioT o 9o 9 )

(a) Tei2 fagr= () gSirfd 9gel ge G s iR i Ser T
A1 T S IHeR ITET HSGH ohl THHIT hedl 2 |

(b) TSICY w1 YoH aAfae fagr (i) STEE H Jlg-TER & W H A o Sl 2
(¢) Hodl I fagr (i) SN & Feqed T Slfed 99
(d) wrEe gEEET fagd (iv) 99 1 e 1o
EEE

(@) (b) (c) (d)
(1) (v) () @ ()
(2) ) (v) (1) (1)
(3) () (1) (1) (i)
(4) (O Gu) (v) (i)

SR (1) : I SR qoai® % 3 Tad 9Hee & 999 o T st qiume e
T E |

SR (1) : FEFIT GeATRTah a1 (919 TGS 1 Yol Ll §, IHHR! Y hd e Heria
dehrieh bl 114 HEyl HHA 2 |

(1) =M 2T HE G |
2)  BMI YT A K |
)
)

Y - [ T € o FIA - [ 7TeTd € |
I - [ T § S9ieh o - 11681 2
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Which of the statements are not correct 7 Indicate the correct code.

Statement (1) :  Social assistance 1s financed by fripartite or bipartite contributions.

Statement (II) : Social insurance ignores the income and means of liable relation.

Statement (III) : Social assistance makes the beneliciary a first charge on the liable relations.

Statement (IV) : Social assistance aims at to provide maximum subsistence to those who can
not make it on their own.

Code :
(1) (1) and (IT) (2) (1) and (III)
(3) (1) and (IV) (4) (1) and (IV)

According to which one of the following theories, differences in nominal interest rates will
be climinated in the exchange rate ?

(1) Leontief Paradox Trade Theory  (2)  Fisher Effect Economic Theory

(3)  Purchasing Power Parity Theory (4) Combined Equilibrium Theory

According to the Purchasing Power Parity Theory, the level of foreign exchange rate is
determined by which of the following ?
(1) Domestic Price level (P) divided by foreign price level (P¥)

(23 P*=P

gy el

(4) P*/P

Malch the items of List - I with List - IT and choose the correct code of combination :
List -1 List - II

(a) It abolishes all restrictions on trade (1)  Common Market

among, the members

(b) It not only eliminates all restrictions (1)  Economic Union
on trade among members but also
adopts a uniform commercial policy
against the non-members

(c) It allows free movement of labour and (i1)  Free Trade Area
capital within the common market

(d) It achieves some degree of harmonization  (iv) Customs Union
of national economic policies, through
a common central bank, unified monetary
and fiscal policy, ete.

Code :

@ ® © @
M @ @ 6 )
@ @ @ O
G i) @) O G
@ @M v )
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I H YA Tal T8l ¢ 7 T2l &2 ] I hifC |
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TR (1) : WHISR SH1 STRer] oY i A9 SN [HHl 1 3 I ¢ |

TR (111) : JrTesh TEEa] ST Gaell 78 enerell =61 9gell 9N <4 & |

SR (IV) : TSI T &1 3299 39 @M 1 Afdsran fFafe yg[ 53 § 51 @9 U9 981 &1

Hehd |
e ‘
(1) () R (2) (L) # (10
(3) (1) # (V) (4) (1) R (V)
e o 9 fore g o SR Tafrma <0 | 9ell =411 3 Rl 37 JH 21 S ?
(1) Tasf== el 7 ol (2) TR guma st fagm
(3)  shagte wHal Tagia (4) Hg= 94 Tagrd

4 YT FHal (9gld o SIER ey iy e R Meaied § | ey fuEiia 2 g2

(1) =Re FHd ¥ (P) 4 fagel =iva &8 (P*) T 9 e 9
(2) Gix — d "

(3) - H

(4) O /di "

-

It - 1 iR gl - 11 o1 gofea wifsn @ fow T gm0 ¥ 98 e 9
= - el - 11
(a) THY HSHl o o9 AR HeH 9 gfae oAm g S 1 () " 96
(b)  FHY T ohelel Hewl <+ He S9N HelHl 91 Ufdsie WHE 2 (i) SAfHe HH
d % 1fug Tod TR-ueH] & OHel § TR 99Ey A
1fd 79 Il © |
(c) THY UM AR % 9T 99 SR Jsil 61 ey 99ed gAY (i) Ha AR 89
B ST |
(d) TEH HAR HE deh, GHT difgeh N U AT (v)  HEges e
37fe o \Iegy | U s Hifael | $% g8 deh JHSE

w1 g I B
Eﬁc\_c'.':

(a) (k) (o) (d)
(1)  (v) (@ @) (i)
(2)  (iv) (i) (0 (ii)
G) i) @) O (i)
(4) (i) (i) (iv)  (iif)
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Assertion (A) @ Indian companies have established subsidiaries and joint ventures in a

number of countries in different manufacturing industries and service
sectors.

Reasoning (R) : Bv restricling the areas of operations and growth, the government policy

seriously constrained the potential of Indian companies to make a loray
into the foreign countries.

Both (A) and (R) arc correct and (R) 1s the right explanation of (A).
Both (A) and (R) are correct but (R) is not the right explanation of {A).
Both {A) and (R

) arc incorrect.
(A) 1s correct but (R) 1s incorrect.

Statement (I) :  Automatic variations in the exchange rates, in accordance with the

variations in the balance of pavments position, tend to automatically restore
the balance of pavments equilibrium.

Statement (II) : A deficiency in the balance of payments increases the exchange rate,
Code :

(1)

Statement (I) 1s correct but (II) is incorrect.

(IT)
)

Both the statements (I) and (II) are incorrect.

Statemenl (IT) is correct but (I) is incorrect.

Both the statements (I) and (IT) are correct,

Which among the tollowing is not a correct statement ?

(1)

Designalted bank refers to any bank in India, which has been authorised by the RBI Lo
act as banker to FIL

Domestic custodian includes any person carryving on the activities of providing custodial
services in respect of securilies.

Sub-account includes those institutions, established or incorporated in India, whether

incorporated or not, on whose behalf investments are proposed to be made in India by
Flls.

A domestic portfolio manager or domestic asset management company shall also be
eligible to be registered as I'Il to manage the [unds of sub-accounts.

Identify the incorrect statement from the following :

(1)

Broken-date contract is a full - month forward contract.

Currency arbitrage refers to making profit by buving a currency cheap in one market

and selling it dear in the other market at a particular point of time.

Currency Futures Market refers to organised foreign exchange market where a fixed
amount of a currency is exchanged on a fixed maturity date in the pit.

Currency Oplions Market refers to market for the exchange of currency where the
option buyer enjovs the privilege of not exercising the option if the rate is not favourable.
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(2) A (1) ¥l € Tohg () oM 2 |
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(2)
(3)

(4)
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(1
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e
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Dividends declared by Unit Trust of India or by mutual fund is :
(1) Fully exempt in the hands of unit holders
(2)  Fully taxable in the hands of unit holders

(3)  Tully exempt in the hands of individual unit holders and fully taxable in the hands of
mstitutional unit holders

(4)  Included in the gross total income but a deduction is allowed under section 80 L

Malch the items of List - I with the items of List - IT and choose the correct answer from the
code  given below :
List - 1 List - II
(Types of Income) (Heads of Income)

(a)  Salary, bonus, commission, etc. received by (1)  [ncome from other Sources
a working partner from the firm

(b)  Pension received by the widow of a (i) Income from (short term) Capital
governmenl employee Gains

(¢} profits on the sale of machinery used in (iii) Income from Capital Gains
business

(d)  Compensation received from the (1v)  Income from Business and
government on compulsory acquisition Profession

of land and prolit carned

(v) Income [rom Salaries

Code :

(@) (b) (¢} (d)
M@ G @ )
(2)  (v) () () (v)
B M) v G G
(4)  (v) @) () (i)

Which of the following will be considered as tax planning effort ?

(a)  Mr. A purchased a house for sell residence of X 80 lacs by taking a lToan of ¥ 60 lacs
from SBI at 10% interest, instead of using his own funds.

(b)  Mr. A made investment in purchasing 12% redeemable debentures of TISCO worth
X 1.50 lac

(¢)  Mr. A purchased 100 gram gold biscuits of ¥ 2.5 Lac from SBI on the occasion of Diwali.

(d)  Mr. Adnvested < 1 crore in purchasing 5 acres of agricultural land in his native village
in Gayva.

Code :
(1) (a) and (b) (2)  (b) and (c) (3) (a) and (d) (4)  (c) and (d)



www.prepp.in

69.

70.

71,

prepp

Your Personal Exams Guide

AT Az gxe =1 aredfen 4ty g = s

i ) S " = ,‘—\:'r
(1) A< ¥R =6 ToTd YUY H Shiq=d 7 |

(=%

(2) Ffe o F ford e § FTEr 7

(3) =AW T giehi o fofd 907 ®9 H FTHF T I gfq2 91iehi < ol guied | & A gldl

Tl
(:l

(4) %A Fel A °H A1 S g R 91 &0 L & ST B2 o 5l ¢

gt - 1% TR = = - 11 % 7l o gufea sifay qor 9= o2 7™ %z 9 we s 9
T - 1 Tl - 11
( 3" & YR ) ( 319 o7 TSR )

f

(a) HIRA WERR GRT FH § U Add, 999, HHYE 3l (1) 1 Fihl ° 9T

(b)  ETRET KA <l ToI=E 57 9MH 99 (it)  (STCTRTAM) Gsil o4l | 779
(¢) SATOR H Ygad HIA o fospd o a1y (it) gl o4 | A

(d) 4\ = e TRy 3H % BoRaEy Wi O (iv) AR T U AT
O Hidyfd 93 o4

(v) 999 314

(@ (b)) (o)
(v ) @
(2) () (i) () (V)
(3)  (v)  (v) ()
(4) (v) @) (@) |

ot

TEATARgd H ¥ Tohd St = 9919 <hegl e ?

(@) T8 AT IR0 F HHM Sl AT Y THSTE W 10% =975 T X 60 AN 1 H7 ol
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Assertion (A) : If the interest is pavable outside India, tax must be deducted at source.
Reason (R) : If tax has not been deducted at source, the amount paid as interest will not
be allowed as a deduction in computing business income.

Select the correct answer from the code given below :
(

1 Both (A) and (R) are correct and (R} is the correct explanation of (A).
(2
)

(A) and (R) both are correct bul (R) is not the correct explanation of (A).

-

)
)
(3)  (A) is correct but (R) is wrong,
(4)  (A) is wrong but (R) is correct.

Under the Income Tax Act, 1961 the education cess of (2% + 1%) is calculated on the amount
of :

(1)  Income Tax (2)  Income Tax Plus surcharge (if any )

(3)  Gross total Income (4}  Taxable Income

Exemption, under Sec.54 F of the Income Tax Act, 1961, shall not be allowed if the assessee,
on the date of transtor owns -

(1) Any residential house
) A residential house which is lel oul
(3) A house which is self occupied
)

More than one residential house

T'he income from the sale of a machinery used in business is treated as :
(1) Income from business and profession
) Shorl-term capital gain
(3)  Long-term capital gain
)

Income tfrom otheor sources

~-00 o0 -
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[ ad
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